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) MANAGEMENT INFORMATION SYSTEMS
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The ﬂgures tn the margin indicate full marks

: Candldates are requtred to give their answers in their own - ‘
- words as _far as. practicable

GROUP A
( Multiple Choice Type Questions ) . v
.1'. Choose the correct alternatives for the following ' \ : R
| . | 10x1—1o
. Which of the following isa tactical decision ?
T a) Capital -source decision '
'b) Product decision |
c) Plant Iocation decision
‘_ d) Budget allocation.

i) Which of the following types of decision making
would depend heavily on real-time information ?

a) Strategic  b) Tactical
c) Operational d) Non-Progi'ammaBle. -
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Computer information systems are most successful
in providing information for ‘

a) control riecisions a b) planning'd‘ectslons.“

iv)

o Strateglc declsions d) non- programmable

Error reports are an example of

a)_ scheduled Teports b) ‘demand reports

¢) exception reports d) predictive reports 3

v)

'Which of the following is part’ of the declslon-
" makmg process ? -

~‘a) Problem 1dentif1cation

b) Alternative select_lon :

c)  Problem recognition

d) Al of these.

i)

The most complex type of decision that
management will have to face is =~ |

a) Unstructured decision

" b). Structured decision

vit)
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c) Control '
d) None of these

.Report produced at predetermtned times such as
“daily or weekly is called |

‘a) periodic report b) ~ special report

c) 'Weekly rep’or"t__v.' d) none of these. o
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The other name for data processing system is
a) transaction processing system

b) Processing system ‘

¢) DSS |

d) None of these. | |
Within a database, the sequential organization of

data by a common key is called

logical structure - b) inverted structure :

,c). ' stmple structure ‘d) all of these.

The physical system of the ﬁrm may be regarded as
a ﬂow of

‘a) manpower machines, material and money

b) information only

c) 'manpower machines material money and '

' information :

-d) manpower machines, material and data.

GROUP B
( Short Answer Type Questions )

Answer any three of the following 3x5= 15., .

2. What is MIS ? Write down the limitation of MIS.
Define and elaborate CASE

-Mention the advantages of MIS in the field of
management :

B Differentiate between DSS MIS and TPS
6. What is the role of informati_on in MIS ?
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7. a).
) . b)

.c)

What is SDLC ? Explain each phase of SDLC.  5+10

9. a

GROUP - C
( Long Answer me Questions )

‘Answer any three of the following. 3x15=45"

Define DBMS with the help of an example.
What is utility of DBMS ovér conventional  file
based systems ? | -

Define the 3- tier architecture of DBMS ‘ 5» +6+4

What is a data comm_nmcatlon ? What are its

. characteristtcs ?

by
10. a)
b

'sc)‘

11, a)

4740516 .

Descrtbe the dtfferent types of network topologtes

thferentiate between LAN, MAN and WAN 4 + 6 +5 |
'Dlﬂ’erenttate between data and information '

What are the challenges faced in the development
of MIS. ‘

Define TPS, | . 5+5+5_"

Give detaﬂs of various steps 1n ERP applications.

What are changes that. can be envisaged in an

organization - once an ERP packagc

implemented ? 0 9+6
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